Celal Bayar University Journal of Science

A Morphological, Anatomical and Karyological Study on *Hieracium* pannosum BOISS. (Asteraceae)

Hakan Sepet¹*^(D), Bahattin Bozdağ²^(D) Canan Özdemir³^(D)

 ^{1*} Kırşehir Ahi Evran University, Faculty of Engineering and Architecture, Department of Environmental Engineering, Kırşehir, Türkiye
²Menemen Anatolian High School Menemen-İzmir, Türkiye
³Manisa Celal Bayar University, Faculty of Arts and Sciences, Department of Biology, Manisa, Türkiye
* <u>hakansepet@gmail.com</u>

* Orcid No: 0000-0002-5841-9969

Received: 11 October, 2024 Accepted: 9 December, 2024 DOI: 10.18466/cbayarfbe.1565400

Abstract

In this study Hieracium pannosum BOISS. morphological, anatomical and karyological features of the species were investigated. The samples were collected from Manisa Spil Mountain. The findings were compared with previous studies. We observed some changes in the morphological measurements of the species examined in the flora of Türkiye. In the anatomical studies, root stem and leaf characteristics of the species were determined. The body of the plant has a rounded shape in cross-section and contains 5-15 ordinary cortex layers. The body is self-parenchymatic. Palisate and sponge cells are similar in leaf mesophyll. The chromosome number of the species was determined as 2n = 27. Also, karyograms and idiograms were made.

Keywords: Anatomy, Hieracium pannosum, Karyology, Morphology.

1. Introduction

The Asteraceae family, one of the richest families on earth, is the second largest family in the Turkish Flora with 1156 species, and the geographical origin of this family is accepted as South America in phylogenetic terms [1-2]. Hieracium L. is in the Lactuceae tribe of the Asteraceae family and has more than 1000 species [3]. It is represented in Turkey with about 102 taxa [2-4]. This genus is distributed in mountainous areas all over the world [5]. Hieracium ssp. is found among the plants found in the pastures of Europe and North America [6-11]. *Hieracium* taxon has a wide variety of habitats. This genus has different taxonomic characters used in the classification of apomictic taxa. Due to the intense hybridization in the Hieracium genus, many difficulties are encountered in taxonomic classification [12-14].

In this study, the chromosome numbers of 8 Hieracium species collected from Turkey were studied. Different chromosome numbers ranging from 18 to 36 were determined for the species examined [15].

There is no anatomical and morphological study on the species *Hierecium pannosum*. The aim of this study is to determine the morphological, anatomical and karyological features of these species and contribute to their introduction.

2. Material and Method 2.1. Material

The plant samples in the study were collected from the following location where they naturally spread in Turkey.

B1 Manisa, Spil Mountain, At Alanı Location, 1520 m, 18.06.2012, Bozdag 055 (Figure 1).

Some of the plant samples obtained in the field studies were dried using standard herbarium techniques to be used in morphological studies. The dried plant samples are currently stored in the Celal Bayar University herbarium. Species identifications of the studied samples were made using fresh and dry samples using the 5th volume of Davis (1975)'s "Flora of Turkey".





Figure 1. The Region Where the Species Examined Was Collected (Manisa, Spil Mountain)

2.2. Method

The parts taken from the roots, stems and leaves of the samples were stored in 70% alcohol. These samples were first passed through alcohol series in order. Then, the sections were taken from the paraffin blocks prepared with the parts taken from the roots, stems and leaves of this species for the studies [16] and these sections were stained with safranin and fast green dyes. Photographs were taken from the sections using a Leica DM3000 motorized microscope. The findings obtained are shown in figures and tables. The matured large seeds selected for karyological studies were left to germinate in petri dishes. 1-1.5 cm were cut from the root tips of the germinated seeds and exposed to the pretreatment agent (a-monobromonaphtalene) for 16 hours. The root tips removed from the pretreatment agent were hydrolyzed in 1 N HCl at 60 °C for 3-6 minutes. The hydrolyzed root tips were stained in Feulgen dye for 1.5 hours. After the stained root tips were washed several times with tap water, samples prepared with the crushing preparation method were examined for chromosome examination [17]. Photographs were taken from these preparations with a DM3000 motorized Leica microscope. The chromosome samples obtained from the photographs were named according to the method developed by Levan et al. (1964) [18].

3. Findings 3.1. Morphological Findings

The stem can grow up to 15-60 cm. The plant carries numerous stellate and long covering hairs. The leaves are 5-8(-12) in size, 40-200x20-55 mm. The leaves are denser in the lower part of the stem and can sometimes form a false rosette structure. The leaves are oblanceolate-oblong or obovate, usually obtuse, sometimes mucronate. They have entire or few small toothed structures. The leaves narrow towards the base and are attached to the stem more or less amplexally. The leaves are lanceolate with long plumose types. Capitula are 1-4 in number.

H. Sepet

Peduncles extend up to 30 cm. They have 1-3 linear bracts. They have dense stellate and numerous long plumose hairs. The involucre is 13-20 mm in diameter. Phyllaries are narrowly linear-lanceolate, with a more or less acute apex and numerous stellate hairs. Phyllaries have small scattered yellowish glandular hairs, dense long plumose hairs. Ligules are globrous. Styles are yellow. Achenes are yellowish-brown and 3.5-4.5 mm in size. Flowering occurs in 6-9 months. It can usually be found among calcareous rocks, sometimes in stony areas or in open areas of forests. Its distribution is between 1000-2700 m (Figure 2).



Figure 2. A view from the natural habitat of the H. pannosum species.

3.2. Anatomical Findings 3.2.1 Root

At the outermost part of the root cross-section, there is a peridermis layer with fragmented cells and a cortex parenchyma consisting of 15-25 cell rows underneath. While the cell boundaries of these cells are clear in the young root cross-section, their walls are fragmented in the old root cross-section. In the young root, the endodermis layer immediately covering the vascular bundles is clear. In the root cross-section, the phloem cells have lost their integrity because their walls are fragmented. In the vascular tissue located in the central cylinder, the phloem layer covers a very small area. In contrast, xylem elements fill almost the entire center. In the old root of the plant, cambium cells can be seen here and there between the phloem and xylem elements (Figure 3, Table 1).

3.2.2 Stem

On the outermost part of the cross-section taken from the stem, there is a thin cuticle layer covered with a single row of epidermis cells, the widths of which are larger than their lengths. Just below the epidermis layer, there is a cortex parenchyma with cells that cover a very wide area and are larger than their lengths. In the vascular bundles, phloem cells are covered by sclerenchyma cells with thickened walls. Phloem cells cover a narrow area and their walls are fragmented. In the perennial stem, 1-2 rows of cambium cells can be distinguished between the vascular bundles. In the cross-section of the stem, the pith region covers a very wide area. The cells here are round-shaped and their diameters increase as they approach the center (Figure 4, Table 1).

3.2.3 Leaf

In the cross-section taken from the leaf, the cuticle width on the abaxial side is wider than on the adaxial side. There are two rows of epidermis cells on both sides of the leaf, the widths of which are larger than their lengths. The width and length of adaxial epidermis cells are larger than abaxial epidermis cells. There are stomata cells and dense covering hairs arranged at certain intervals on both surfaces of the leaf. The cells forming the mesophyll layer have shapes close to round. In the leaf mesophyll layer, the cells forming the palisade parenchyma and the cells forming the sponge parenchyma cannot be easily distinguished from each other. The width and length of epidermis cells are often larger than the dimensions of the cells forming the mesophyll layer. Sclerenchyma cells cover the phloem cells in the vascular bundles (Figure 5, Table 1).





Figure 3. Anatomical sections of *H. pannosum* species A- young root, B- old root e. Epidermis end. Endodermis end. Peridermis end. Cortex parenchyma end. Xylem end. Sclerenchyma cells.



Figure 4. *H. pannosum* Stem cross-section, e. Epidermis, k. pith parenchyma, kp. Cortex parenchyma, sk. Sclerenchyma cells, f. Phloem, ks. Xylem.





H. Sepet

Figure 5. Leaf cross-section k. Cuticle, s. Stoma, ad. Adaxial epidermis, ab. Abaxial epidermis e. Epidermis, kiss. Pith parenchyma, ks. Xylem.

	width Min	_	Max	Average	± S.D*.	height Min	_	Max	Average	+	S.D*
	(μm)		(μm)	i i vei uge	- 5.2 .	(μm)		(μm)	iiverage	_	•
Root											
Epidermis	12.25	-	40.00	24.13	\pm 8.88	16.25	-	30	22.63	\pm	5.19
Cortex parenchyma	30.00	-	47.50	37.25	\pm 5.97	11.25	-	22.50	16.63	\pm	3.54
Trachea (diameter)	15.00	-	40.00	28.50	± 9.29						
Stem											
Cuticle						2.50	-	6.25	3.50	±	1.29
Epidermis	10.00	-	20.00	15.88	± 3.01	11.25	-	22.50	17.75	\pm	3.57
Cortex parenchyma	25.00	-	62.50	40.25	± 13.87	15.00	-	43.75	30.75	±	12.0
											6
Trachea (diameter)	12.50	-	30.00	21.00	± 5.03						
Spongy parenchyma	27.50	-	125.00	64.50	± 29.20						
Leaf											
Adaxial cuticle						1.25	-	5.00	2.94	\pm	1.38
Adaxial epidermis	16.25	-	32.50	21.88	± 4.97	15.00	-	25.00	20.50	\pm	3.96
Mesophyll cells	25.00	-	67.50	34.50	± 9.63	22.50	-	52.50	43.38	±	11.7
											9
Trachea (diameter)	10.25	-	24.75	19.63	\pm 4.37						
Bundle sheath cells	10.00	-	25.00	18.63	\pm 5.22						
(diameter)											
Abaxial epidermis	12.50	-	21.25	18.13	\pm 3.19	12.50	-	22.50	15.38	±	2.70
Abaxial cuticle						1.88	-	5.00	3.25	±	1.13

Table 1. Anatomical measurements of various parts of the species H. Pannosum

S.D^{*}. Standard deviation



3.3.Kariological Findings

Table 2. Measurements of mitotic metaphase chromosomes of <i>H. pannosum</i> species.											
Chromosome	Total	Long	Short	Arm	Centromeric	Centromeric	Satellite				
no	chromosome	arm	arm	ratio	index	position					
	length (C) µm	length	length	R: L/S	I: (S/C).	S.D					
		(L) μm	(S)μm		100 µm						
1	8.79	5.08	3.71	1.37	42.20	m	-				
2	8.14	5.17	2.97	1.74	36.48	sm	-				
3	7.86	4.90	2.96	1.65	37.66	m	-				
4	7.68	4.62	3.06	1.51	39.84	m	-				
5	7.12	4.80	2.32	2.06	32.58	sm	-				
6	7.02	4.60	2.42	1.90	34.47	sm	-				
7	6.94	4.24	2.70	1.57	38.90	m	-				
8	6.48	4.44	2.04	2.17	31.48	sm	-				
9	6.48	4.16	2.32	1.79	35.80	sm	-				
10	6.48	3.88	2.60	1.49	40.12	m	-				
11	6.22	4.07	2.15	1.89	34.56	sm	-				
12	6.02	3.70	2.32	1.59	38.53	m	-				
13	5.85	3.51	2.34	1.50	40.00	m	-				
14	5.85	3.51	2.34	1.50	40.00	m	-				
15	5.28	3.50	1.78	1.96	33.71	sm	-				
16	5.28	3.43	1.85	1.85	35.03	sm	-				
17	5.18	3.24	1.94	1.67	37.45	m	-				
18	4.90	2.96	1.94	1.52	39.59	m	-				
19	4.90	2.22	1.35	1.64	27.55	m	1.33				
20	4.81	2.96	1.85	1.60	38.46	m	-				
21	4.81	2.13	1.39	1.53	28.89	m	1.29				
22	4.72	3.05	1.67	1.82	35.38	sm	-				
23	4.63	2.77	1.86	1.49	40.17	m	-				
24	4.35	2.59	1.76	1.47	40.46	m	-				
25	4.26	2.59	1.67	1.55	39.20	m	-				
26	4.16	2.59	1.57	1.65	37.74	m	-				
27	3.79	2.31	1.48	1.56	39.05	m	-				



The chromosome number of the species was determined as 2n=3x=27. In the karyotype analysis, submedian centromeres were determined in 9 chromosomes and median centromeres in 18 chromosomes. Satellites were observed in the 19th and 21st chromosomes. When the chromosomes of the species were examined, the largest chromosome was 8.79 μ m and the smallest chromosome was 3.79 μ m. The longest arm was 5.17 μ m and the shortest arm was 1.35 μ m. The total chromosome length was 158 μ m. (Table 2, Figure 6, Figure 7)



Figure 6. Somatic metaphase image of *H. pannosum* species (Scale 10µm)



Figure 7. Idiogram of H. pannosum species



4. Discussion and Conclusion

In this study, the anatomical, morphological and karyological structure of the *H. pannosum* species, which is included in the Asteraceae family, was examined and it was aimed to contribute to the introduction of the species.

There are dense covering hairs on the above-ground parts of the species. The phyllaries in the capitulum are in 4-7 rows and are arranged in an imbricate manner. The tips of the ligular flowers are indented and protruding in a sawtooth-like manner. The leaves are located at the base in the form of a rosette in most samples. The flower stalk also serves as a stem.

In anatomical examinations, the cortex parenchyma covers a very large area in the root of the species. Typical radial conduction tissue is evident in the young root. In the old root, xylem is evident in the conduction tissue and endodermis cells have disappeared. There is a wide pith region in the stem and the walls of the cells are thin and their diameters increase as they approach the conduction bundles. When old stems are examined, it is seen that xylem elements occupy a large space in the vascular bundles, phloem elements remain in a narrow area, and they are covered by sclerenchyma cells with thickened walls. It has been observed that the vascular bundles in the main vein of the leaves are larger. As we approach the leaf tips, it is seen that the vascular bundles are arranged at certain intervals. The length of the cuticle layer on the abaxial side of the leaf is larger than on the adaxial side. The width and length of the adaxial epidermis cells are larger than the width and length of the epidermis cells on the abaxial side. The distinction between palisade parenchyma and sponge parenchyma in the mesophyll layer is not clear. Mesophyll cells are generally round in shape.

The chromosome basic number in *Hierecium* species was determined as n = 9. There is also a lot of polyploidy in these species [15,19-20].

A study published in 2011 gave the chromosome numbers of *Hieracium* and *Pilosella* species distributed in Southeastern and Central Europe. In this study, the chromosome number of *H. pannosum* was determined as 2n=3x=27 [21].

A study published in 2010 examined the *Hieracium* renatae species and stated that these species can live especially at altitudes of 2400-2520 m [22]. Materials belonging to the *H. pannosum* species were collected from an altitude of approximately 1250 m.

In a study conducted in Pakistan in 2009, it was stated that *Hieracium bichlorophyllum* (Druce & Zahn) Pugsley, *Hieracium diaphanoides* Lindeb., *Hieracium* *umbellatum* L., *Hieracium virosum* Pallas and *Hieracium vulgatum* Fr. species have dense hairy stems and bifacial leaves [6]. The H. pannosum species examined in this study also has dense hairy stems and leaves. The distinction between palisade parenchyma and sponge parenchyma in the leaves of the species is not clear. H. pannosum species has morphological, anatomical and karyological similarities to other Hieracium species. It is thought that morphological, anatomical and karyological studies will help in the scientific recognition of this species.

References

[1].Bremer, K. 1994. Asteraceae: Cladistics & Classification. *Timber Press, Oregon.* USA 10 (2):295-304

[2].Davis, P.H. 1975. Flora of Turkey and the East Aegean Islands. *Edinburgh Univ. Press*, Edinburgh, Vol. 5.

[3].Petroviç SD, Gorunoviã MS, Wray V, Merfort I. 1999. A taraxasterol derivative and phenolic compounds from *Hieracium gymnocephalum*. *Phytochemistry*. 50 (2): 293-296.

[4].Ekim, T. Koyuncu, M. Vural, M. Duman, H. Aytaç, Z. Adıgüzel, N. 2000. Türkiye Bitkileri Kırmızı Kitabı (Red Data Book of Turkish Plants).*Türkiye tabiatını Koruma derneği*, Ankara.

[5]. Gottschlich G (1996) Tolpis/Hieracium. In: Sebald O, Seybold S, Philippi G & Wörz A (Hrsg.): Die Farn- und Blütenpflanzen Baden-Württembergs. Band 6: Spezieller Teil (Spermatopyhta, Unterklasse Asteridae) Valerianaceae bis Asteraceae, pp 300-302, 393-535. *Eugen Ulmer*, Stuttgart

[6].Qureshi, S.J. Khan, M.A. Arshad, M. Rashid, A. Ahmad, M. and Zafar, M. 2009. Morphological, palynological, and anatomical investigations of *Hieracium* L. (Lactuceae, Asteraceae) in Pakistan. *Métodos en Ecología y Sistemática* Vol. 4(3): 1-22

[7].Hunter, G.G. 1991. Distribution of hawkweeds (*Hieracium* spp.) in the South Island, indicating problem status. Review. Journal of the N.Z. *Mountain Lands Institute* 48: 21-31.

[8].Rose, A.B. Basher, L.R. Wiser, S.K. Platt, K.H. Lynn, I.H. 1998. Factors predisposing short-tussock grasslands to *Hieracium* invasion in Marlborough, New Zealand. *NZ J Ecol.* 22 (2): 121-140.

[9].Birdsall, J. and Quimby, P.C. 1996. Hawkweeds. In: Rees, N. et al. (Eds.), Biological Control of Weeds in the West. Western Society of Weed Science in Cooperation with USDA Agricultural Research Service. *Montana Department of Agriculture and Montana State University*, Bozeman.

[10].Fernald, M.L. 1950. Gray.s Manual of Botany. A Handbook of the Flowering Plants and Ferns of the Central and Northeastern United States and Adjacent Canada, Eighth (Centennial) *Edition Illustrated, American Book Company*, New York.

[11].Wilson, L.M. Callihan, R.H. 1999. Meadow and orange hawkweed. In: Sheley, R.L., Petroff, J.K. (eds.), Biology and Management of Noxious Rangeland Weeds. *Oregon State University Press*. Corvallis, 238-248.

[12].Gustaffson, A. 1946., 1947. Apomixis in higher plants I-III. *Acta* Univ. Lund. N.S. 42 (3): 1-67; 43 (2): 69-179; 43 (12):181-371

[13].Merxmüller, H. 1975. Diploide Hieracien. Anales Inst. Bot. Cavanilles 32 (2): 189-196.

[14].Asker, S.E. and Jerling, L. 1992. Apomixis in plants. CRC Press, Boca Raton, etc.



[15].Hayirlioglu-Ayaz, S. and İnceer, H. 2004. Chromosome Numbers Of Some Species Of The Genus *Hieracium* S.STR. (Asteraceae) From Turkey. *Folia Geobotanica* 39 (3): 319-325

[16].Algan, G. 1981. Microtechnics for the Plant Tissues. *Publication of Firat Univ. Science & Art Faculty, Number* 1, İstanbul

[17].Elçi, Ş. 1994. Sitogenetikte Araştırma Yöntemleri ve Gözlemler. 100. Yıl Üniversitesi Yayınları. No: 18 *Fen Edebiyat Fak. Yayın* No: 16. Van.

[18].Levan, A. Fredga, M. and Sandberg, A. 1964. Nomenclature for centromeric position on chromosomes *Hereditas*, 52 (2): 201-220.

[19].Chrtek, jun J., Mrfiz P., Zahradnicek, J., Mateo, G. and Szelag, Z. 2007. Chromosome Numbers and DNA Ploidy Levels Of Selected

Species Of *Hieracium* S.Str. (Asteraceae") *Folia Geobotanica* 42 (4): 411-430

[20].Niketic, M. Vladimirov, V. and Mraz, P. 2006. Chromosome numbers and taxonomic-chorological notes on selected species of *Hieracium* s.str. (Asteraceae) from Montenegro. *Phytol. Balc.* 12 (1): 85-97

[21].Ilnicki, T., & Szelag, Z. (2011). Chromosome numbers in *Hieracium* and *Pilosella* (Asteraceae) from central and southeastern Europe. *Acta Biologica Cracoviensia. Series Botanica*, 53(1).

[22].Zbigniew, S. 2010. *Hieracia balcanica* V.A new diploid species in *Hieracium* sect. Naegeliana (Asteraceae) from Macedonia. *Ann. Bot. Fennici* 47 (4): 315-319